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QUESTION 1

A raw data file is listed below:

RANCH,1250,2,1 ,Sheppard Avenue,"$64.000"
SPLIT,1,190,1,1,Rand Street,"$65,850"
CONDO,1400,2,1.5,Market Street,"80,050"
TWOSTORY,18104,3,Garris Street,"$107,250"
RANCH,1500,3,3,Kemble Avenue,"$86,650"
SPLIT,1615A,3,West Drive,"94,A50"
SPLIT,1305,3,1.5,Graham Avenue,"$73,650"

The following SAS program is submitted using the raw data file as input:
data work.condo_ranch;

infile “file-specification\\' dsd;

input style $ @;

if style = "CONDO\\' or style = "RANCH\\};

input sqgfeet bedrooms baths street $ price : dollar10.; run;
How many observations will the output data set contain?
A.

B.

C.

D.

Correct Answer:

QUESTION 2

The SAS data set named COMPANY.PRICES is listed below:
The following SAS program is submitted:

libname company “SAS-data-library\\';

data hware inter soft;
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set company.prices (keep = producttype price);

if price le 5.00;

if producttype = "THARDWARE\\' then output HWARE;

else if producttype = "NETWORKN\' then output INTER; else if producttype = "'SOFTWARE\' then output SOFT; run;

How many observations does the HWARE data set contain?

COMPANY . PRICES

prod-d price producttype sales resurns
Klis 5.10 NETWORE 15 2
B13Z3 Z2.34 HARDWARE 300 10
R1BETZ 1.29 S0OFTWARE 25 5
JFLOBY 6.37 HARDWARE 125 15
DYG5DM 5.60 HARDWARE 45 5
DGTYE3 4,55 HARDWAERE 67 2

A.0

B.2

C.4

D.6

Correct Answer: B

QUESTION 3

The SAS data set SASUSER.HOUSES contains a variable PRICE which has been assigned a permanent label of
"Asking Price".

Which one of the following SAS programs temporarily replaces the label "Asking Price" with the label "Sale Price" in the
output?

A. proc print data = sasuser.houses; label price = "Sale Price"; run;

B. proc print data = sasuser.houses label; label price "Sale Price"; run;
C. proc print data = sasuser.houses label; label price = "Sale Price"; run;
D. proc print data = sasuser.houses label = "Sale Price"; run;

Correct Answer: C

QUESTION 4
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The following SAS DATA step executes on Monday, April 25, 2000:

data newstaff;

set staff;

start_date = today();

run;

Which one of the following is the value of the variable START_DATE in the output data set?
A. a character string with the value “04/25/2000\\

B. a character string with the value "Monday, April 25, 2000\\

C. the numeric value 14725, representing the SAS date for April 25, 2000

D. the numeric value 04252000, representing the SAS date for April 25, 2000

Correct Answer: C

QUESTION 5

The SAS data set BANKS is listed below:
BANKS

name rate

FirstCapital 0.0718

DirectBank 0.0721

VirtualDirect 0.0728

The following SAS program is submitted:
data newbank;

doyear=1to0 3;

set banks;

capital + 5000;

end;

run;

Which one of the following represents how many observations and variables will exist in the SAS data set NEWBANK?
A. 0 observations and 0 variables

B. 1 observations and 4 variables
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C. 3 observations and 3 variables

D. 9 observations and 2 variables

Correct Answer: B
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